FB907

A 1 3 kw
3 m
120 py W 2 250 pw
A 2
(1)
(2)
(3)
]
A B C
1 =n/2 T
2 =n/2 n/2
3 = /2
4 & n/2
5 =xn T
A 3
1) ]
(2)
(3) K
A B C
1 0.61
2
3 0.61
4
5 0.61
A 4
1
2
3
4
5
A 5 mm
50 2 75 Q 100

40 km
450 p W
)
0.91
2
mm
Q

140 Q

25

30 dB

600 p W 750 pwW

0 rad | rad
] rad

50 Q

300 Q

30

(FB907-1)



(1)

(2)

(3)

(4)

g B~ W DN -

a b~ W N B

10
16
25
30

200 m

km
km
km
km
km

Ss A m
G
S, m
Gs ()
G
m
I m
]
B C
)L 2
_[A)?
2a A/ 1 (2&)
_[A)?
2b Al (Za)
_[A)?
2b Al (Zb)
_[A)?
2b A )1 (Za)
200 MHz

]

A B C
1 3%/ (4n) SIS, GA*/ (2r)
2 31/ (4n) SHES 9GA%/(87)
3 31%/(8n) SIS, GA*/ (4n)
4 3A%/(8n) SHES GA*/ (4x)
5 31%/(8n) SIS, GA*/ (2r)
L Im
b
v
a m
‘% a——> b m
a b
30 m
d, km

km

(FB907-2)



10

(1)

(2)

(3)

12

gaa A W N B

a b~ W DN B

]
A B
H A/ 2
H e
E e
E e
E A/ 2
n 1
]
m
A
D m
2 mm

Z,= 270 log,, 2D

10
15
20
25

mm
mm
mm
mm
mm

>
>+
BN

5
>
=

S
=

=]
> |
=

>

S
+
[EEN

Q

100 mm

;‘Q
AJ/4 m 3A/4 m
m
. Im
A\ A4
\\
e
]
/
3A/4
]
A m
174
100 mm R=135 Q
‘e1/4 %‘
D R
) —
174

(FB907-3)



13

(1)

(2)

g B~ W DN PP

14

(1)

(2)
(3)

g B~ W N

15

(1)

(2)

a b~ WO N B

16

SHF

90

aScos6
aSsing
assing
aScosf
aScos6

EHF

60 GHz

)

1]
1]
1]
1]
1]
S m? 6 rad
100 GHz 22 GHz
10 GHz 200 GHz

(FB907-4)



17 800 km 25 kw
300 km 1 2 6 dB
M V/m dB log,,7 0.85
1 35 dB 40 dB 45 dB 4 51 dB 5 57 dB
18 [ ]
A m
(1) G, G, d m
P, W P, W P./P,
P/P= [ 1)’GG,
(2)
Gl—G2:|:|
(3) | C]
A B C
1 A 2nd [ 2
2nd A P
o A 2nd /P
2nd A P
3 A ad /P
nd A P
i A 4nd | P
4nd A\ P
g A 4nd /P
4nd A\ P
19 S/N
]
B Hz R Q [l m
Enn V/M R Q
(1) N, k J/K T K
N =KTB W
S
s=_ Al w
(2) S/N F S
s=[_ B] w
(3) Emin F
Emin: V/m
A B C
2 1 1
1 (IeEmin) 4R FkTB(S/ N) E«/ 4FkTBRr(S/ N)
O
21 KTB
2 (%Emm)Zﬁ{ F(S/N) . :i:ﬂ?
(/) .
21 KTB >
3 (1Ew) 2k TB(s/N) y maaﬁS/N) 2R
IeEmin
21 KTB 4KTBR
4 (Ie min) R F(S/N) I F(S/N)
O
21 1
5 (LE.) R’ FKTB(S/N) {11/ AFKTBR(S/N)

e

(FB907-5)



2
3
4
5
1 [ ]
(1) F P F P P FP
g Q R
PQ=[_ |
(2) F g h P h S F P S
FP+ B
FP+ B=[ |
(3 F J
G ] G h H[ ]
(4) F H 6=0
0% 0 P+ B l
FP+ B=[ x|
QI o/ S
2PQ FP 4
— Ep 6
QS 7 2 10 2FP N | =
g h
G H
2 [ ]
[ ]
(1)
[ ]
(2 [ ]
[ ] [ ]
(3) wo o[ ] t
[ ]
7 TEM 10 TE
7w |
v 33
t <
0

(FB907-6)



3
(1)
(2)
]
A m
= |
(3) ]
]
32A
A2
4
1
5
]
Z, Q
(1)
Zoax Q P
P= | w
(2) VSWR S Z..=SZ,
P= | w
P P
Po
Po= | w
(3) M
P0
M=p =[]
(4) G,( )
G =
G,=l ]
VSWR G,
1+8)° 236 vV, |
i | SRS
_A4SG Vo s (1+5)2
(l+S)2 ZO (1+S)2 s

Vo

]
m
322
TA
1 2
(VSWR)
G( )
Q
O
Z,
Z, Z
O O_I
Vo :
Z,
\ V2 (1+8)
2Z, 2Z, S
V02 V, 2

(FB907-7)



